Dustcontrol ’ Technology for Healthy Business

Reservdelar Spare Parts Ersatzteile Recambios
Varaosat Reserveonderdelen Piece detachees
Reservedeler Reservedele

DC AirCube 500

42692

\NSTRUKTION
\NSTR\JC“ON
BETRIEBS

AT 94178-C
Svenska
Artnr Benamning Art nr Benamning
41517 Uttag 42700 Vingmutter M6, plast, svart
42665 Utblasningsstos 42713 Flakt 115 V
42666 Insugsgaller 42749 Spannlas )
42689 Handtag 44046 Lampinsats led réd 110-250 V
42690 Forfilter 4586-1 Strémomkopplare
42691 Flakt 240 V 4829 Kondensator 400 V 4 pF
42692 Mikrofilter 48810-1 Strombrytare aircube vit
42697 Fot PVC 80461 Mikroswitch
94178-C  Bruksanvisning i original DC AirCube

DC AirCube - 77

Part No 94178-C



Dustcontrol ’ Technology for Healthy Business

Reservdelar Spare Parts Ersatzteile Recambios  Varaosat
Reserveonderdelen Piece detachees Reservedeler Reser-

vedele

DC AirCube 500

Part No Description

41517 Socket

42665 Exhaust flange

42666 Protection grill

42689 Handle

42690 Prefilter

42691 Fan 240V

42692 HEPA filter

42697 Foot for housing

42700 Wing nut M6, plastic, black

Art. Nr. Benennung

41517 Steckdose

42665 Ausblasflansche

42666 Ansauggitter

42689 Handgriff

42690 Vorfilter

42691 Geblase 240 V

42692 Mikrofilter

42697 Gummifuly

42700 Flugelmutter M6, plast, schwarz

Part n° Description

41517 Retrait

42665 Collerette de sortie

42666 Grille de protection

42689 Barre poignée

42690 Filtre d’entrée

42691 Ventilateur 240 V

42692 Microfiltre HEPA

42697 Pieds pour capot

42700 Papillon M6, plastique, noir

Artikelnummer Omschrijving

41517 Stopcontact

42665 Uitlaat verloop

42666 Beschermrooster

42689 Handvat

42690 Voor filter

42691 Ventilator 240 V

42692 HEPA filter

42697 Rubber voet voor behuizing
42700 Vleugelmoer M6, plastic, zwart

2016-04-04

English

Part No Description

42713 Fan 115V

42749 Fastener

44046 Indication light led red 110-250 V

4586-1 Switch, speed

4829 Condenser 400 V 4 yF

488101 Switch aircube white

80461 Micro Switch

94178-C  Original instructions DC AirCube
Deutsch

Art. Nr. Benennung

42713 Geblase 115V

42749 Spannschloss

44046 Gehause fir Lampe Led Rot 110-250 V
4586-1 Stufenschalter

4829 Kondensator 400 V 4uF

488101 Schalter aircube weiss

80461 Micro Switch

94178-C  Originalbetriebsanleitung DC AirCube

Francais
Part n° Description
42713 Ventilateur 115 V
42749 Verrou de tension
44046 Voyant led rouge 110-250 V
4586-1 Connecteur
4829 Condensateur 400 V 4 pF
48810-1 Interrupteur aircube blanc
80461 Micro-interrupteur
94178-C  Notice originale DC AirCube
Nederlands
Artikelnummer Omschrijving

42713 Ventilator 115 V

42749 Aanscherping

44046 Lampje geleid rood 110-250 V

4586-1 2 standen schakelaar

4829 Condensator 400 V 4 yF

488101 Aan/uit schakelaar

80461 Micro Switch

94178-C  Oorspronkelijke grebruiksaanwijzingg
DC AirCube

DC AirCube - 78 Part No 94178-C



Dustcontrol ’ Technology for Healthy Business

Reservdelar Spare Parts Ersatzteile Recambios  Varaosat
Reserveonderdelen Piece detachees Reservedeler Reser-
vedele

DC AirCube 1200

Svenska
Art nr Benamning Art nr Benamning
41210 Lampinsats 42918 Forfilter
42105 Hjul D =200 42931 Inlopp
42320 Strombrytare 42933 Flaktenhet 230 V EU
42366 Spannlas 42933-1 Flaktenhet 230 V UK
42650  Potentiometer 42933-2 Flaktenhet 115V UK
426700 Handtag 42933-3 Flaktenhet 115V US/CAN
42688 Lock, komplett 42933-8 Flaktenhet 230 V CH
42749 Spannlas 42940 Mikrofilter
42898 Handtag 94178-C Bruksanvisning i original DC AirCube

2016-04-04 DC AirCube - 80 Part No 94178-C



Dustcontrol ’ Technology for Healthy Business

Reservdelar Spare Parts Ersatzteile Recambios  Varaosat
Reserveonderdelen Piece detachees Reservedeler Reser-
vedele

DC AirCube 1200

English
Part No Description Part No Description
41210 Filter indicator light 42918  Prefilter
42105 Wheel D = 200 42931 Inlet
42320 Switch 42933 Fan unit 230 V EU
42366 Toggle fastener 42933-1 Fan unit 230 V UK
42650 Speed control 42933-2 Fan unit 115V UK
426700 Handle 42933-3 Fan unit 115V US/CAN
42688 Cover, complete 42933-8 Fanunit230V CH
42749  Toggle fastener 42940  HEPA filter
42898 Handle 94178-C Original instructions DC AirCube
Deutsch
Art.nr. Bezeichnung Art.nr. Bezeichnung
41210  Gehéuse fur Lampe 42918  Vorfilter
42105 Rad D =200 42931 Einlass
42320 Schalter 42933 Geblaseeinheit 230 V EU
42366 Haken fiir Behalter 42933-1 Geblaseeinheit 230 V UK
42650 Drehzahlregelung 42933-2 Geblaseeinheit 115V UK
426700 Handhaben 42933-3 Geblaseeinheit 115 V US/CAN
42688 Deckel 42933-8 Geblaseeinheit 230 V CH
42749  Haken fiir Behalter 42940  Mikrofilter
42898 Handhaben 94178-C Originalbetriebsanleitung DC AirCube
Espanol
Referencia Descripcion Referencia Descripcion
41210 Filtro de luz indicadora 42918 Prefiltro
42105 Rueda D =200 42931 Entrada
42320 Interruptor 42933 Ventilador 230 V EU
42366 Gancho de contenedor 42933-1  Ventilador 230 V UK
42650 Control de velocidad 42933-2  Ventilador 115V UK
426700 Tirador 42933-3  Ventilador 115 V US/CAN
42688 Tapa 42933-8  Ventilador 230 V CH
42749 Gancho de contenedor 42940 HEPA Filtro
42898 Tirado 94178-C  Manual original DC AirCube
Suomi
Osanro Kuvaus Osanro Kuvaus
41210 Suodattimen merkkivalo 42918 Hienosuodatin
42105 Pyora D = 200 42931 Tuloaukko
42320 Kytkin 42933 Tuuletinyksikkd 230 V EU
42366 Koukku kontti 42933-1 Tuuletinyksikké 230 V UK
42650 Nopeudensaatd 42933-2 Tuuletinyksikkd 115 V UK
426700 Kahva 42933-3 Tuuletinyksikko 115 V US/CAN
42688 Kansi, kokonainen 42933-8 Tuuletinyksikké 230 V CH
42749 Koukku kontti 42940 Suodatin
42898 Kahva 94178-C DC AirCube Alkuperaiset Ohjeet

DC AirCube - 81 Part No 94178-C



	parts_AirCube_500_Ersatzteile
	parts_AirCube_1200_Ersatzteile



